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EXTRA PRACTICE 38
Solving Exponential and Logarithmic Equations
Use after Section 8.6 Name_______________________________

Examples.  Solve.

a)  7 3431x − = b)       6 15x = c)      e t− =3 004.
 7 71 3x − = log log6 15x =   ln ln .e t− =3 004
x − =1 3 x log log6 15= − =3 004t eln ln .

         x = 4         x =
log

log

15

6
      − =3 004t ln .

        x ≈
11761

07782

.

.
            t =

−
ln .004

3

        x ≈ 15113.            t ≈
−

−
32189

3

.

 t ≈ 1073.

Solve.

 1 . 3 815x =  ________________________  2 . e t4 120=   ______________________

 3 . 4 6x =  _________________________  4 . 6 2x =  _________________________

 5 . e t− =2 0 6.  _______________________  6 . 5 6253 2x + =  _____________________

 7 . 8 161x + =  _______________________  8 . 10 7x =  ________________________

 9 . 7 1520x =  ______________________ 10. e t0 0 4 10. =  ______________________

11. e t5 5=  _________________________ 12. 6 71x = .  ________________________

13. 6 363x+ =  _______________________ 14. 4 31x − =  ________________________

15. 12 162 3x − =  _____________________ 16. 10 10005− =x  ____________________
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EXTRA PRACTICE 38 (continued)
Solving Exponential and Logarithmic Equations
Use after Section 8.6 

Example.  Solve:  ( ) ( )log log2 21 1 4x x+ − − = Check:
( ) ( )log log2 21 1 4x x+ − − =
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The solution is 
17

15
.

Solve.

17. ( )log logx x+ + = 15 2 18. ( )log log x x+ − =2 3
_______________________ _______________________

19. ( )log3 2 7 4x − = 20. ( )log5 11 2x − =
_______________________ _______________________

21. ( )log logx x+ − = 21 2 22. ( ) ( )log log2 22 2 5x x− + + =
_______________________ _______________________

23. ( )log  3 4 1x + = 24. ( )log log x x+ − =33 2
_______________________ _______________________

  

25. ( )log logx x− + = − 5 1 26. ( )log log4 43 3x x+ − =
_______________________ _______________________

27. ( ) ( )log log4 46 6 3x x− + + = 28. ( )log log6 6 9 2x x+ − =
_______________________ _______________________

29. ( )log log .x x+ − = − 021 2 30. ( )log log x x− + =48 2
_______________________ _______________________

  

31. ( )log log7 7 4 21 3x x+ + = 32. ( )log2 5 4− =x
_______________________ _______________________


